Module 5 – Nuclear and Atomic Physics: Quiz 2b
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1. What is the lowest frequency of light that can cause the release of electrons from a metal that has a work function of 2.8 eV.

2. Gold has a work function of 4.82 eV.  A block of gold is illuminated with ultraviolet light (λ = 160 nm).
a. Find the maximum kinetic energy of the emitted photoelectrons in electron volts.
b. Find the threshold frequency for gold.
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φ  = hvo  
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hv = φ  + KE 
Using the lowest frequency will result in no kinetic energy of the released electron. 
Therefore hv0  = φ  
4.136 ×10-15  eV ⋅s x vo  = 2.8 eV



 vo =
2.8 eV



4.136 ×10-15  eV ⋅s
= 6.8x1014Hz
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1. What s the lowest frequency of Ight that can cause the reease of
electrons from 4 meta that has  work unction of 2.5 .

2. Gold has  work function of 4.2 cV. A block f old i lluminated with
ltraviolet ght (= 160 )
. Find the maximum kineic cnergy of the emittd photolectrons in
dlectron vols.
. Find the threshold requency for god.



